CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD PPE REPORT 2018-19

DISTRICT: 73 LISBON

PER-PUPIL EXPENDITURES

			STATE, LOCAL	
		FEDERAL	AND OTHER	
CODE	SCHOOL NAME	FUNDS	FUNDS	TOTAL
730111	Lisbon Central School	674	17,802	18,476
TOTAL DIS	STRICT EXPENDITURES	461	16.980	17,440

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD EXPANDED PPE REPORT 2018-19

DISTRICT: 73 LISBON

PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	EXPENDITURES P	UPILS	FED	ST/LOC	PRI/OTH	SCHL PPE	CENTRAL	TOT PPE
730111	Lisbon Central School	6,148,188	401	674	14,577	81	15,332	3,144	18,476
TOTAL SCH	HOOL EXPENDITURES	6,148,188	401	674	14,577	81	15,332	3,144	18,476
DISTRICT	CENTRAL EXPENDITURES	1,260,630	401	0	3,144	0		3,144	
OUTPLACED)/OUT OF DISTRICT PUPILS	2,828,703	186	0	15,208	0			15,208
TOTAL DIS	STRICT EXPENDITURES	10,237,521	587	461	16,925	55			17,440

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY FUNCTION REPORT 2018-19

DISTRICT: 73 LISBON

PER-PUPIL EXPENDITURES

		LOW	HIGH		PCT HI	INSTR-	SUPPORT	IMPROV	LIBR	SUPPORT	SCH00L	PLANT	TRANSP	ENTERP	MINOR	
CODE	SCHOOL NAME	GRADE	GRADE	ENROLL	NEED	UCTION	SVCS	INSTR	SVCS	INSTR	ADMIN	0PS	NOTHOME	OPS	CONST	TOTAL
730111	Lisbon Central	PK	08	401	43	10,425	1,637	69	191	0	588	1,609	20	142	652	15,332

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY OBJECT REPORT 2018-19

DISTRICT: 73 LISBON

PER-PUPIL EXPENDITURES

	LOW HIGH		PCT HI		EMPLOYEE	PURCH				
CODE SCHOOL NAME	GRADE GRADI	ENROLL	NEED	SALARIES	BENEFITS	SVCS	SUPPLIES	PROPERTY	OTHER	TOTAL
730111 Lisbon Central School	PK 08	401	43	9.700	2.811	1.526	412	834	49	15.332

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY FUNCTION REPORT 2018-19

DISTRICT: 73 LISBON

			PUPIL	
FUNCTION	EXPENDITURES	PUPILS	BASIS	PPE
INSTRUCTION	7,009,098	587	1	11,941
SUPPORT SERVICES - STUDENTS	661,073	401	2	1,649
SUPPORT SERVICES - INSTRUCTION	104,144	401	2	260
SUPPORT SERVICES - GENERAL ADMIN	180,612	401	2	450
SUPPORT SERVICES - SCHOOL ADMIN	235,601	401	2	588
CENTRAL AND OTHER SUPPORT SERVICES	273,971	401	2	683
OPERATION AND MAINTENANCE OF PLANT	645,104	401	2	1,609
STUDENT TRANSPORTATION SERVICES	781,398	605	3	1,292
FOOD SERVICES	28,315	401	2	71
ENTERPRISE OPERATIONS	56,949	401	2	142
MINOR SCHOOL CONSRUCTION	261,256	401	2	652
TOTAL	10,237,521	587	1	17,440

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 3 TOTAL PUPILS TRANSPORTED

CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY OBJECT REPORT 2018-19

DISTRICT: 73 LISBON

			PUPIL	
OBJECT	EXPENDITURES	PUPILS	BASIS	PPE
SALARIES	4,102,405	401	2	10,230
EMPLOYEE BENEFITS	1,196,441	401	2	2,984
PURCHASED SERVICES	1,541,239	401	2	3,843
TUITION	2,828,703	186	4	15,208
SUPPLIES	189,866	401	2	473
PROPERTY	351,645	401	2	877
OTHER	27,222	401	2	68
TOTAL	10,237,521	587	1	17,440

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 4 OUTPLACED PUPILS

June 24, 2020 CONNECTICUT STATE DEPARTMENT OF EDUCATION

BUREAU OF FISCAL SERVICES OUTPLACEMENT PPE REPORT

DISTRICT: 73 LISBON 2018-19

TUITION TYPE	EXPENDITURES	PUPILS	PPE
TUITION FOR DESIGNATED HS	1,758,536	153	11,494
TUITION FOR PRIVATE, RESIDENTIAL OR OUT OF STATE	420,800	7	60,114
TUITION FOR INTERDISTRICT MAGNET	34,741	15	2,316
OTHER TUITION	614,627	11	55,875
TOTAL TUITION	2,828,703	186	15,208